PPM (parts per million ) in hindi TTdTTa TfHTeT T 1 § 2 SSTER0T [ Fgd & T a3 - 11th , 12th notes In hindi

PPM (parts per million ) in hindi UTUTTH GRHTYT T T8
? 3IeRVI fhy Ped § Y9I Ay

Ydtus TR HTST I3 31 § 2 ISTeR0T fhd Fed § I9TEH A PPM (parts per million ) in hindi

PPM (parts per million ) : U¢d W fferae (fdium) ot afe M : 106 7 faeaa= & farsit
I 1 it 3 gm T AHT HI PPM (THTH) HEd 5|

PPM (WHIEH) = (A w19\ & UR / A ST IM H 4R ) x 10°

U 1:1Kg 9 H 5x 103gm O, Yol & A O, B AET PPM H J1d |
IR : PPM (UTHeH ) = ((Aed 1 9M # YR / faq@a w1 I8 & UR ) x 108
PPM = (5x103/103) x 10°

PPM =5 PPM

TY 2 : 500 TH TYNRE H 0.02 T TARTSS § ) GARISS Pt HET PPM H J1d 1 |
IR : PPM (HUEH ) = (}Ad &1 9 H YR / faera= &1 98 & YR ) x 10°

PPM = (0.02/ 500 ) x 10°

PPM =200 /5= 40 PPM

Uidied gfyrs JA 3aleUl PPM (parts per million ) in hindi question answer with solution

qﬁﬂ'ﬁm(parts per million ppm) . for<ft faorg gerd & R W &t a8 ST ol fpdt
faaaT & 10° [T fAIfera 31Ufd 10,00,000 (GF TRI)] HR, 4T § Iufyd 81, urd wR fHferm
(didieH) Ped B |

gT¢ IR e (didied) = 9oy gard &1 go0dM x 106 /a0 &1 Saad
PPM = W, x 10%/(W, + Wp)
=4 faera yerd @t srafiies ow A faea gIdt 2

=9 faftr gRT s o faeml &1 AigdT S — oI St HRdT, ST H Cl, , a1g TGHUT 3717 Bl
Had B G|

3GTERYT : Sd B HARAT Ca(HCO,), P BRUT 16.7 ppm § I 3BT AU TG 3 5 16.7
gm Ca(HCO,), , 106 UTH B3R ofd H SURRA 5|
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U YHR g H fa¥elt 41 1 A1 GiUied § U iRid od 1 10 UHITH NO 79 &1 3HUR g fdh
10 T NO T 106 U a1 & U 5|

%h-cf - TGl I PPB (UdlaT) parts per billion ,3 &ed B & 1018 H 106 & RIM W 102 ferad
|

U9 1 : TS 51d & U fh i o 5.8 x 1073 gm 3G et 8 | S &t qrsdl gioed
(PPM) ¥ I1d IS |

3R : PPM = W, x 10%/(W, + Wp)
PPM = 5.8 x 103 x 10%/1000
PPM = 5.8 ppm

T 2 : 500 T TYURE T TARTZS &I AR 0.2 gm & | TOTH T FIRZS 3! &1 Figd fobeT
BT

3R : PPM = W x 10%/(W, + Wp)
PPM = 0.2 x 10%/500

PPM = 400

TRIRISS BT TG0 400 UHTH |

I =T 31YaT Hiet fUH S1YaT JId UHTS (mole fraction)

Ueh Ty O bt Saaa &1 did 3R 3 3add & Hid a1 fHyor o Sufyd o Al &t I=1 &
3UTd &I FHEd 7 |

S I X ¥ UG R Hd g
31U 3agd &1 HId 3% = 3{Ud & Al b WA / 01§ S Al Bt AT

gfe U feaitft fiysor & S) srgug A 9uT B § oS Al &1 TR M ny, dUT ng 81 TS 96
I 3R HHR: X, dUT X Bl al —

Xa=np/np + np

Xp = np/na+ng

3TTT A & HId! D TBAT = Wo /M, = ny
3(ad B & HIdl &I Y4BT = W/Mg = ng

qﬁWﬁWﬁiWﬁﬁXi:ni/(nl+n2+n3.....ni)
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U 801 # Iufyd 94t 3/ggdl & Ald A BT AN TH gidl o |

Ad: Xp+Xg=1
SYATX; + X + X5 o v e +Xi=1
Hie ufa=rd (mole percent)

Ife Aid ST BT 100 J TON H 0T STW et Tf=Id 71 81 S 8|
3{d: A Yfd=Id = A 3/ x 100

= 3{9gd & HId x 100 / FHYUI Tt A

A PTHA Ul = X,.100

B HTHIE U= = Xp.100

Y - MBI BTN, + 3H, 5 2NH, GHRIGRIT R N, 3R NH, & A 3R HA: 0.2 AU 0.5 5|
ITITIRIT OR H, BT AT 32 TGN ?

& : g 91d © o hrsyor & SufRd et sraaal & e =1 1 a1 U BT &

31T Xz + Xpto + Xnpg = 1

3UAT 0.2 + Xpgp + 0.5 = 1

3RIAT Xy, =1 - 0.7 = 0.3

3{d: H, BT HId 3 = 0.3

Y : S WY T A D 0.5 A, BH 0.2 A H IURYA &, A 3R B & Hidt A 1 Biford |

SR : PAHIA = 0.5+ 0.2 = 0.7

X = ADBTHIA 3R = 0.5/0.7 = 5/7
Xp = BHTHIE 3 = 0.2/0.7 = 2/7
Xpa+Xg=1

Y : 36 UTH 9 , 46 gm UAA Tedblgd 3R 32 UTH HiAT Tedblgd HaT B T fH07 §=ram an

2| fo o e &1 Ad iRy fpa @ —

84 : A T H,0 & HIdl = 36/18 = 2
TR UehIgd AT C,H,OH & A = 46/46 = 1
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CH,OH & 3{YdT AfId Tcehlgd & HId = 32/32 = 1
Ay A paHId = 4

Xyo0=2/4=12

XcoH50H = V4

XcHsoH = 1/4

WY : T [9a9 § 16 U1 CH,OH 3IR 9o UTH H,0 IURYd & | H,0 3R CH,0H &t HId YU
1 9 f9= R gRt ?

gd : faeo o -
CH;0H & Hid = 16/32 = 0.5

H,O & AId = 90/18 = 5.0

Ao d pa dld = 5.5
XcH30H = 0.5/5.5=0.09

XH20 = 5.0/5.5 = 0.91
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